
Subject: VETH and bridging
Posted by radialflux on Mon, 10 May 2010 20:28:52 GMT
View Forum Message <> Reply to Message

Hey all,

I am running into issues while trying to connect a single VE to 2 bridges, like so:

(Subnet is 192.168)

(20.2)Br0----[ETH0(20.1) VE (30.1)ETH1]----Br1(30.2)

If I bring up a single interface, Br0 to Eth0 it works great, but when I add ETH1 to Br1 it becomes
unreachable.  Any suggestions?  Is this an unsupported configuration?

Thanks!

 2.6.27-openvz-kiprensky.1-r1 
vzctl version 3.0.23

===================
SLOPE-V1 ~ # iptables -t nat -L && iptables -t filter -L && iptables -t mangle -L 
Chain PREROUTING (policy ACCEPT)
target     prot opt source               destination         

Chain POSTROUTING (policy ACCEPT)
target     prot opt source               destination         

Chain OUTPUT (policy ACCEPT)
target     prot opt source               destination         
Chain INPUT (policy ACCEPT)
target     prot opt source               destination         

Chain FORWARD (policy ACCEPT)
target     prot opt source               destination         

Chain OUTPUT (policy ACCEPT)
target     prot opt source               destination         
Chain PREROUTING (policy ACCEPT)
target     prot opt source               destination         

Chain INPUT (policy ACCEPT)
target     prot opt source               destination         

Chain FORWARD (policy ACCEPT)
target     prot opt source               destination         

Chain OUTPUT (policy ACCEPT)
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target     prot opt source               destination         

Chain POSTROUTING (policy ACCEPT)
target     prot opt source               destination       
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